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SECTION-A

i) General Awareness

Which of the following award winning
films had no dialogues 7

(A) “Daasl’

(B) *“Pushpak”

(C) “Salaam Bombay”
(D) “Chetak’

In whose reign did Kalidas flourish ?
(A) Kumaragupta

(B) Skandagupta

(C) Chandragupta Maurya

(D) Chandragupta Vikramaditya

East India Company was established in
(&) 1805 AD (B) 1857 AD
(C) 1600 AD (D) 1575 AD

Fundamental Bights ars enumerated in
which part of the Indian Constitution 7

(A) Part =1l (B) Part-li
(C) . Part—=1V (D) Part-|
Which of the following qualities of
diamond is sxprassad in terms of carat ?
(A) Volume (B) Weignt

(C) Colour (D) Lusire

Which of the following is not a banking
or finance company ?

(A) Barciay

(B) Luftansa

(C) American Express
(

D) HSBC

7.

10.

11.

The condition called simple goitre is
caused due to the deficiency of

(A) lodine

(B) Calcium

(C) Thyroxin secretion :
(D) Thyroid stimulating hormene

The non-permanent members of the
Security Council hold office for

(A) Three years

(B) Two years

(C) Sixyears

(D) Five years

In India diamonds ars quarried from
(A) Goleonda

(B) Jaipur

(C) Ratnagiri

(D) Panna

The author of the book “Adventures of
Sherlock Holmes™ was

(A) Charles Dickens

(B) Oliver Geldsmith

(C) Arthur Conan Doyle

(D) Sherlock Holmes

Minimum and maxirmum rates-of Income
Tax in India are

(A) 15% and 28%

(B) 20% and25%

(C) 20% and 50%

(D) 10% and 30%
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A 5
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12.

13.

14.

15.

16.

International Women's day is cbserved on
(A} Mar.8

(B) Mar. 18

(C) Feb. 28

(D) Feb.18

Punjab and Haryana receive rainfall
from

(A) Westerly disturbances

(B) Cyclones in Bay of Bengal

(C) Both of the above

(D) None of the above

Which of the following is in Aurangabad ?

-(A) Shahjan’s tomb

(B) Tomb of Aurangzeb’s gueen
(C) Akbar's tomb
(D) Babur'stomb

\Who was the founder of Ladhi Dynasty ?
(A) Sikander Lodhi

(8) lbrahim Lodhi

(C) Bahlol Lodhi

(D) Daulat Khan Lodhi

In the Constitution of India, the word
‘Federal’ is used in

(A) The preamble
(B) Pari-lli

(C) Aricle 368
(D) MNo where

17, \Which orie amongst the following is not

a component of fiscal poticy ?
(A) Taxation policy

(B) Public debt policy

(C) Trade policy ’
(D) Public expenditure policy

India has developed ten new hydropower
projects for develnpnxént to achieve the
target of import of 10000 MW of hydropower -
from a neighbouring country by 2020.
Which is that country 7

(A) Bhutan

(B) Nepal

(C) Srilanka
(D) Bangladesh

Which of the following countries won
the gold medal in cricket in the Asian
Games 2010 7

(A) SriLanka
(B) Pakistan

(C) Bangladesh
(D) India

Who is called the architectof the
Constitution of India 7

(A) Jawaharlal Nehru
(B) M.N.Kamath

(C) B.R. Ambedkar
(D} Rajendra Prasad
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if) General Intelligence and Reasoning Ability

Directions (Q. 21-25) : In all the questions that
follow, different symbols have been used with
different meanings. For each set of questions
you have to assume given statements to be true
and then decide which of the two conclusions
is/are definitely true. Give answer -
* (A) if only conclusion | is true.
(B) if only conclusion Il is true.

(C) if either conclusion | or Il is true.
(D) if both are true.

Ths syn:ubo!s +, =, %, = and = are used with
the following meanings :

P + Q means P is greater than Q.

P — Q means P is greater than or equal to Q.
P « Q means P is equalto Q.

P - Q means P is smailer than Q.

P = Q means P is either smaller cr equal

to Q.

21. Statements:Mx X,L + O N+M, L=X
Conclusions :l. N+L . X+ 0O

22 Statemenits:S=F, K= S5 BxK,R+B
Conclusions ;. F+K . K= R

23. Statements: H=V,Ax Z H-Z, F+V
Conclusions:l. AxH IL. H+A

24, Statements:1+0,R-1,ZxR,J+Z

Conclusions : L. Zx! W Z+1

25, Statements:Q + R,C+D,F-B,DxF
Conclusions :. Q=+ C . C+F

Directions (Q. 26-28) : Select the altemative
to satisfy the relationship in these guestions.

=

26. ACEG:BDFH::PRTV:?
(A) QRUZ (B) QSUW
(C) STUR (D) QRST
27. Themometer: Degrees:: Ammeter: ?
(A) Volis
(B) Cealories
(C) Watis

(D) Amperes

28. Arctic : Antarctic : Cancer: ?
(A) Capricorn
(B) Disease
(C) Equater

(D) Population
Directions {Q. 29 & 30) : Pick the odd cne out.

29. (A) Cactus (B) Sand
(C) Mirage (D) Pine
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sieepl 1 STewT-3e 3l % WY g fo s LZxl N Z+l

T & | Wl % U9T 492 § o ames fie e
FRA AR AT R R T2 e dai | 25, ¥ QR C+D F-RDxF

Frepst & ol &t R fd: LQ=2C I C+F
IE -
(&) e B | ar T Fdw (wow 26 — 28 76) : 39 UwT 4 Hay
(B) Faerfrerd nmerd G 5 e, foed 1 |
(€ FrdiTdFiEEE R 26. ACEG:BDFH::PRTV:?
(D) EHITAE|
(A) QRUZ (B) QSUW
dliaans R = et 1 arelf 3 s (C) STUR (D) QRST
T e g -
P+QFadeFp Qaasre o7, emidter : feuft « w7
PxQF 342 pP Q¥ avsn e ) -
c) =iz ;
P-QFadefrp Qusme ik i
P=Q#FIEEHFP QAT mat= 2 28, ATHIZF ; HITHEF « : Faqr: 7
21, FHF:Mx X, L+ O,N+M,L=X (A) wF [ FHFS  (B) W
= . LN+L ILX:0O ©) EETE (D) SHEEsT

22. *H 5=F K+ S5 BxKR+BE

. fam fZw (w29 & 30) : R T A =
fred : L F+K LK+ R

29, (A) FHEH (B)
23. FH: H=V,AxZH=-Z F+V

et LAxH ILH+A (c) s (D) TTEH

A+ s
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30. (A) Cube (B) Cone
(C) Cylinder (D) Trapezium

31. Which word cannot be made using the
letters of the phrase “THE CHOICE IS

OBVIOUS™ 7
(A) Voice (B) Booster
(C) Booth (D) Stoic

32, Complets the given number series

17719, 23, 29, —
(A) 33 (B) 31
(C) 34 (D) 37

Directions (Q. 33-35) : There is some
relationship between the two words on one
side. The same relationship obtains between
the oiher two words, one of which is missing
and given as an aitsmative below the question.
Find the correct alternative |

33. Bud:Flower::?7:Flant
(A) Seed (B) Flower
(C) Taste (D) Twig

34, Leader: Follower: : Captain:?
(A) Solder (B) Gate
(C) Sheep (D) Amy

35. Angry:?::Night:Day
(A) Unkind (B) Stormy
(D) Loving

(C) Raging
A*

U0 0 0 0

Directions (Q. 36 & 37) : Each question has
4 (four) alternative responses below it. Select

-1
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36,

37.

38.

39.

40.

the correct response.

An elevator has capacity of 18 adults or
30 children. How many children can
board the elevator with 12 adulis ?

(A) 6 (B) 10

(C) 15 (DY 18

My mother is twice as old as my brother.

| am 5 years younger to my brother but <
three years older to my sister. If my sister

is 12 years old, how old is my mother ?

(A) 24 years (B) 30years

(C) 40years (D) 5O0years

What will be the middle digit of the
middle number after the following
numbers are arranged in descending
order ?

268, 157, 878, 129, 258.
(A) 8 (B) ¢
(C) 5 (D) 2

Which lettar should be in the place of the
question mark in the following series ?
GHIM?2V

(A) Q (B) &

(C) R (D) U

Madhav ranks seventeenth in & class
of thirty one. What is his rank from the
last ?

(A) 13 (B) 14

(C) 15 @) 16




S 050 0 T 0 0 0 0
30. (A} =9 (B) ¥
(C) foei=t (D) THEE

31, FefElEa g8 Fo == s
“THE CHOICE IS OBVIOUS" #F =&
FIEM AR EAET A HEAI e T

(A) Voice (B) Booster

(C) Booth (D) Stoic
32, @ HE H R ;

¥7,18:23,29, —

(A) 38 (B) 3t

(C) 34 (D) 37

o v (W99 33 - 35 7)) : TF WE F 9
TR FHE AT gEYE | A TRI G T
1 721 H9y B, 50 T U v e © e I
TAIYET 9158 1 9al 44 & [0 999 & 414 fawey
frumu # | o ooy gga =t

33, =ell: %l 7 W

(A) & (B) FH
() =m= (D) o
34. AT : HIAE ¢ FH: 7
(A) 2T (B) HIE®
(C) #s (D) &1
35, Far:? 1|
(A) FE (B) qHHI
(C) =i (D) T
A * 11
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o e (U9e 36 & 37) : TEE WA F A
4 (AR) S lafEm A | 3w

F1 9973 1 |

36.

37.

38.

39.

4Q.

wF foree ) smar 18 szcFl 41 30 T4
FI33M H & | 12595 % Oy e 7=
e daegsas 7

(A) 6 (B) 10

(C) 15 (D) 16

Bt ot 9 Avé § S ey o E ) F e
4T § 5 99 B121 & T o] e § 3 99
=g e |ge gl A g 1299 &, A1
wAE AT

(A) 247 (B) 3034

(C) 4099 (D) so=d

& TE GEEIE T WEE #6 § afen
FH T HTE TTel] Gl % W F1 3% 540
B 7

268, 197, 678, 129, 259,

(A) 6 (B) @

(C) 5 (D) 2
e e i M F W
ﬁqmm'@mul%q?
GHJM?V

(A) Q (B) S 2
(C) R (D) U
TEE 3 BN A FAH 17 LEHTER |
B IFI A FE ?

(A) 13 (B) 14

(C) 15 (D) 16
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41.

I
I

43.

iii) Arithmetical and Numsrical Ability

Two trains of length 55 metres and

85 metres travel in opposite directions
with speed 70 kivhour and 50 kmvhour
respectively. Find the time taken for

them to completely cross one ancther.
(A) 10 minutes

(B) 0.06 minutes

(C) 8 minutes

(DY 5 minutes

While entering the number 80, it was
entered 25 66 by mistaks. Percentage

of error is
(A} 10%
(B) 60%
(C) 15%
(D) 6%

How many numbers are there between
1000 and 5600 which are exactly divisible
by 225 7

(A) 14
(B) 18
(C) 12
(D) 18

44,

45.

48,

A merchant marks his ware 40% more
than the cost price and allows 20%
discount. What is his profit ?

(A) 18% :
(B) 20%
(C) 12%
(D) 16%

Ratic of Father's and Son's present age
is8: 3. Tenyears ago, the Father's age
was six times the age of his son, What
is the present age of the Father ?

(A} 50vyears
(By 40vyesars
(CY 45 years
(D) ©0years

F:Q=650:R=2:3,P:Q:R=7
(&) 15:10:12
(B) 10:15:12
(C) 12:15:10
(D) 12:10:15

15 worksrs, working 8 hours per day fake
20 days to complets a work. How many
days 20 workers working 6 hours per
day take to compiete the same work 7

(8) 20
(B) 18
()" 22
D) 15
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41. 5512t 39 65 izt et &t femnfeai 44, UFH M 7 R T R OO e 9

forrtia e & wwwn: 70 forft e af 50 40% ¥fer sifea e & 3R 3™ 20%
R G N S— B
T g ) o8 O/ e kY 26%
e (B) 20%
C) 12%
(A) 10fre (D) 16%
D05 45. e 3 g il aAe 37 1 U 8 1 3 .
(c) 8fim= mEE s, Sl oy e
o aﬂgﬁr%’aﬂ?‘rﬁlﬁmﬁaﬁqﬁa@ﬂ%?
(A) S0
(B) 4079
42, TF F14 OUY 9EE % U 9 60 F g2 (C) 4534
66 fora T | e # wioww & (D) 6074
(A) 10% 46. P:Q=6:5Q:R=2:3,P:Q:R=7
(B) 60% (A) 15:10:12
©) 15% (B) 10:15:12
i (C) 12:15:10
(D) 12:10:15
43. 1000 31 5000 % &= frat G e qﬁ;;m%?w’rﬁqzmzmaﬁ
I FHF 20 wEwd |3k 20 vwg
225 4 pi: faweg 8 7 Eﬁg;ﬁqmﬁi‘wamﬂmﬁjﬁﬂ;
(&) 14 fet o q i 7
B 18 (A) 20
5. 2 (B) 18
(C) 22
(D) 16
(D) 15
A* 13-

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click J




e

P o i |

JDD-43/TGT-PUNJ/X-14

48.

49.

50.

Bi.

Sixth part of a number exceeds its
seventh part by 4. What is the number ?

(A) 176
(B) 174
(©) 172
(D) 168

What is the fifty five percent of two fifths
of 1200 7

(A) 248
(B) 264
(C) 254
(D) 284

.The arsa of a squara is three fifth the

area of a rectangle. The length of the
rectangle is 25 cms. and its breadth is
10 cm less than its length. What is the
perimeter of the squars 7

(A) B0cm
(B) &0cm
(C) 44cm

(D) cannct be determined

42+48
215 + 2 \-,I.E :
(A) 4
(B) 3
(C) 2

i
(D) P

S2.

S0 00 5 0 0 0

How many kg of wheat selling at ¥ 5.20

per kg should be mixed with wheat

selling at ¥ 4.40 per kg to make a
mixture of 30 kg selling at ¥ 144.80 7

(A)
(B)
(C)
(D)

14
16
13

11

Three circles with radii 4 em, 3 cm and

2 cm each touch each other externally.

if their centres ar2 P, Q and R, what is

the perimetsr of triangle ABC ?

(A)

(B)
(C)

(D)

Scm
12cm
18 cm

24 om

if thrae metallic spherss of radii 6 cm,

8 cm, and 10 cm aré melted to form a

single sphers, then the diameter of the

-

new sphere will be

(A)
(B)
(C)
(D)
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36 cm
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48.

49.

50,

51.

T3l ETET T a1 YT 35 |igd YT H 4
whw g S aEE e 7

(A) 176

(B) 174

(C) 172

(D) 168

1200 % 2/5 & 577 %7 55% =1 8rm ?
(A) 248
(B) 264
(C) 254
(D) 284

UF 7 F1 E9%, UF AEE F A9%E +
3/5 3 9T F W & | GG F] A
25 TH1 371 =S T o § 10 B
FHE | T o e |

(A) 60 %

(B) 80 &

(C) 44Fd!

(D) Fuffm T8 s o

42 +48
272 +2+3
(A) 4

(B) 3

(C) 2

| =

=15
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30 foran =1 emr s T 5.20 o et
T forer 1) foet vl 718 1 T 440 far
Torell =11 18 % Wy e T 144.80 #
o= ST =Ry ?

(A) 14

(B) 18

(C) 13

I{D} 11

49, 3 51 3 2 Tt o Bl w@
3 90 UF 75 i o1a &9 § 99 51 £ |
afe FFF2 P, QI R E, 71 ABC B
i aiorer w8 7

(A) gaH

(B) 12%H

(C) 18&=t

(D) 24 F4

3fe 6 91, 8 T, 3T 10 &4 Bt
o grfess Mt F fuaers s g e
FET S, T AU FATH R

(A) 24 FHi
(B) 30%H
(C) 3&FH:

(D) 26FHT
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29,

56.

£
=d

Fora certain sum of money the simple
interest and compound interest for
2 years are ¥ 360 and T 396. What is
the rate of interest 7

(A) 12%

B) 11%

(C) 9%

(D) 10%

A share of face value T 25 is sold at a
discount of T 2.50. If the brokerage is

% 0.50 for each share, how many share
can be purchased by investing < 6,500 7
(A)
(B) 350

250
(C) 300

(D) 200

A person travels 7 km towards South,
from there he travels 8 kim fowards East
and then again travels 22 km to the North.
How far is he now from his starting point ?

(A) 13km
(B) 12%km

17 km

18 km

80.

5 30 O A S0 0 S

A railway train 100 meters long'is
running at the speed of 30 km per
hour. In what time will it pass a bridge

80 meters long ?
(A)
(B)
(C) 21.6seconds

12 seconds

16.5 seconds

(D) 20 seconds

Twoquantities areintheratin 3: 4.1 5
is added to each of the two guantities,
the new ratio obtained is 4 : 5. Find the
two quantities.

(A)
(B)
(C)
(D) 21and2g

18and 24
iSand 20
12 and 16

A persen’s total taxable income is
3 3,000,000, Out of this for the first
T 2,50,000 he need not pay any Income
Tax. Amount in excess of T 2,50,000 is
taxable at 10% upto % 5,00.000. How
much Income Tax he is liable to pay ?
(A)
(B)
(C)

500
2,500
< 3,000

(D) %5,000
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55. afe Tl faeme ofdToe 2 af & fem ey
=T 31 9Fats == T 360 3R T 396
2, A ST T A ¢

(A) 12%
B) 11%
()
(L)

9%

10%

56. 3fehd 4rd T 25 I TF IHL I T 2.50
F 2 F AL T A @ E | IR vEF I
& fom a9 7 0.50%, 1 ¥ 6,900 3w
T S SR E S T Esa § 7
(A) 250
(B) 350
(C) 300

(D) 200

57. W& =qf#q giam i &1 7 = gem 2,
I @ 98 F #1 F17 8 5 = § o
i Stem 3wt it 917 22 Tl Seia 2
Ha 92 J7- gis R e gm0
(A) 13Tt
(B) 12
(C) 17 Bt
(D) 19 e
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T 100 Hi w41 29 30 e wfa =92
e & 99 W 2 | 7% 80 ¥ W T e
1 T T o g S 7

(A) 12 5%
(B) 16.59%8
(C) 21.88%Fs
(D) 20d%e

B BT 1 39 3 : 4 2 AR vl
"= 5 it foa s, 9 w41 wra s
4 : 5 R | ST ATEG JE #+1

(A) 18 301 24

(B) 15 3R 20

(C) 12 7 16

(D) 21 3 28

T a1 Fef 1 41E 9H T 3,00,000
2 | Forwdd & I8 vee T 2,50,000 WA
1 AT R 8 | T 2,50,000F o
% 5,00,000 7% T #1 2 10% 21 34

-

e s 1 e T e 7
(A) T 500

By ¥ 2,500

(C) % 3,000

(D) % 5,000
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g1.

62.
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iv) Test of Language : Hindi
wraT giterm : B

B6. =il e & 3 T %Y

g1 375 Fl foTmw 9
(A) diEa

(B) g

() =

(D) e

=T ¥7eE & T5E 8 vie
(A) =1=9H

(B) @A

f2gF Tes =1 S e B

(A) Tagdi

(B) TezmT

(c) TEem

(D) g

(A) =EE (B) =HEEl
(C) FEi& (D) HHE!
(A) =T (B) =Hs
(C) S (D) = e

18

B7.

8E.

70.

71.
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(A) EH (B) @i
(C) = (D) =&
2, = fei & FEAE |
(A) =

(B) HRE - ,
(C) =1 SR T

(D) =8

H Y ST 9

(&) (B) ¥
(C) T (D) =

[ A, -,
Haq, '*-iif:{ﬂ, SaH" SEnS|o

(B)
(D) wm=s

(A) = G

(C) Taereasii

ZHU = el W AT

(&) =l
(B) =Ees
(C) e <

(D) 9= GET

FEEEE w91 |39 §8 % &
(A)

(C)

(B) w=F
(D) A EEEm

Eie

Eiel
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@ IR A TH ST SRR TS | RS
(B) TEEm s & frare B auen T S e
(C) T TR T FEl SRS i SE ey 3 =i
F1 11 8, 51l SR 9T F1 Yad 3 | gHEE 96 i
(D) 7T B3 R 7 3 1 3 e ) e e

®Y & 9 g S | e fren g @ off
STfereh e B & | $6E S 1 o g g

73 W od T | o8 ot e i &1 e 6 fat o
(A) ™ FIEMEAE |
(B) WETM 76. TR d e EmaEat?
c) fEn (A) =i
= : (B) TrfEn AT
(D) TEfasmo © T
| (D) <P
ll -
. 74, dnTmE T EEEETR 77, TS FE W a9
(C) ==t (D) e
B) WY )
& 78. oz Y fifemm sk mea g ?
G R (A) Frm (B) =
(D) () = (D) e
79. HUERGE T FadisEE e 7
75. ‘g’ v = o (A) TR (B) famms
(C) =@ (D) Fel
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) 80, FHI U S O SEASH A TR 7
(B) =M (A) STHERT
(C) =m (B) f=
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v) Test of Language : English

|t

Directions (Q. 81-84) : Read the following
paszage and answer the iterns that follow the
passage.

Education, without a doubt, has an important
functional, instrumental and utilitarian
dimension. This is revealed when one asks
questions such as ‘what is the purpose of
education ?" The answer, too often, are 1o
aequirs qualifications for employment/upward
mobility, wider (in terms of income)
opporiunities, and ‘meet the needs for' trained
hurman power in diverse fields for naticnal
development'. But in its deepest sense
education is not instrumentalist. Thatis to sa',r'.
it iz not to be justified outside of itself because
it leads to the acquisition of formal skills or of
certain desirad psychological sccial atiributes,
t must be respected in itself. Education is thus
niot 2 commodity to be acguired and then used,
but & process of inestimable imporiance to
individuals and society, although it can and
does have encrmous use value. Education
then, is a process of expansion and conversion,
not in the sense of converting or turning
students Into doctors or engineers, but the
widening and turning out of the mind the
creation, sustenance and development of salf
critical awarsness and independence of
thought. It is an inner process of moral
intellectual development.

Ax*

81.

82.

83.

What do you understand by the
‘instrumentalist’ view of education ?

(A)

(B)

(C)

(D)

Education is functional and
utilitarian in its purposes

Education is meaniio furl'ill human
needs

The purpose of education is to train
the human intsileci,

Education is meant to achisve
moral development

According to the passage, education
must be respected in itself because

(A)

(E)

(C)

(D)

It heips to acquire qualifications for
employment

It helps in upward mobility and
acqguiring social status

It is an inner precess of moral and
intellectual development

Al the {A) (B) and (C) given above
ara correct in this context

Education is a process in which

(A)

(B)

(C)

,

(D)

Latest Sarkari Jobs, Govt Exam Results,
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Students are converted into
trained professionals

Opportunities for higher income
are generated -

Individuals develop self-critical
awarsness and independence of
thought

Quaslifications for upward mobility
are acquired
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84.

According to the passage which of the
following is TRUE 7

(A) Education is a process of
expansion in the sense of

converting students into doctors

(B) Education deesn't have functional

dimension
(C) Education is a commodity to be
acquired

(D) Education is an inner process of

moral development

Dirsctions (Q. 85-88) : Read each senience
below and find out which part of it contains

grammatical error. I there is no error, your

answer is (D).

#]
1

%

The gentleman (&) a’tﬂgethaa; with
his wife and daughter (B) / were
drowned. (C)

Pecple have (A) / ideas about (B) /

aeroplanes in ancient times. (C)

It you stand by me (A)/in my hour of

need (B) / | will never forget you. (C)

The old man toid (A) / his son that there

was no (B) / such thing for luck. (G)

Z1-

JDD-43/TGT-PUNJ/X-14

Directions (Q. 89 & 90): Choose the word or
phrase which is nearest in meaning to the

keyword.

8s.

Despot

(A) poor

(B) tyrant :
(C) foolish

(D) insane

Knack

(A) authoritative
(B} commonplace
() familiar

(D) trick

Directions (Q. 81 & 92) : Cheose the word
which is opposite in meaning to the keyword.

oy

1

Malign

(A) praise

(B) slander
(C) defame
(D) disparage

Tacit

(A) =silent

{(B] unexpressed
(C) expressed

(D) impertinent

Latest Sarkari Jobs, Govt Exam Results
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Directions (Q. 93 & 94) : Fill in the blank by
selecting the most appropriate word from the

four given alternatives.

93.
he will fail.

(A) before

(B) otherwise
(C)
(D)

because

since

94. Jaya is one friend, | can always count

in times of difficulty.
(A) with
(B) after
* (C) at

(D) on

g5. The correctly spelt word is
(A)
(B)
(C)
(O}

acomodation
accommodation
accomodation

acommodation

Directions (Q. 96 & 97) : Choose the correct
meaning of the words in capitals from the four

alternatives given.

g6. The court adjourned SINE - DIE
(A)
(B)
(C)
(L)

definitely
foravar
indefinitaly

periodically

A=

Y ou must teach your brother '

97.

g8.

98.

100.

7

Vice President is the EX-OFFICIO

chairman of the Bajya Sabha.

(A) elected

(B) selected

]

(C) by virtue of his officer

(D) appointed

The plural of "journey’ is
(A) journys
(B) journies
(C) joumeys

(D) none of these

e did not tell me where he was

working"

The above sentence is a
(A) . simple sentence

(B) complex sentence
(C}) compound sentence

(D) simple as well as comple

sentence

-

*Camal is like the ship of a desert"
The figure of speech employed in the

above sentence is

(A) metaphor (B) hyperbolie

(C) personification (D) simile

Latest Sgrkari Jobs, Govt Exam Results
Vacancies and updates on one click m




0 O O S O . JDD-43/TGT-PUNJ/X-14

1 , SECTION-B
IR
Post Specific Subject-Related Questions
U Wb ees (9eg - g uys

101. wfensw e Jas fam faft fou fodt ot 3

(A) Fraer

(B) wemra .
i (C) wrersh
' (D) fegs g aet =t
102, UmsEl = ulgw fenrgas fafmr

(A) 75 o8 ’

(B) = i ==

(C) feferty wigm

(D) feas Re® @et at

103. =ws €% ug foor 9w w, ¥° fev fafowsl gt
& foest ® wg 2 oo wdt @
(A) w¢ foferr + oftemm + Awed + Aot el
(B) wy falow + Fis'es + Wiaeow + Adlee faionr
(C) vy Tafenr + widlews + mofea fafoer + daea
(D) wy fefenr + rofER fafosr + oSlema + H3ew

104. #3g - YoHas 3§ ¢
(A) U &5 =W »od us
(B) iy I €7 wst ¥ Wo
(C)ys Re yuz Qv 7 we & T
(D) »ieegs 3 TUoe e

105. ‘missi, fren, Hewr o Ady fom Al 55 37

(A) a#
_ (B) mar
' (C) Afezar x
(D) = B far 5@ &7
106. Fel-1 gef-2
(A) Ut oz € fefzem )hos fiw s
{E}ﬁ?—l’lﬂ' oS wiessaHE EEan J}E?F Ay w3
(C) st Aigs = FEHes el 3) g Fwr msw
(D) drrel m=E ¥ Wusre e 4) diET TR weE
A* 23
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(o7, wios fefsow e =W Woseyds 3

108.

108.

110,

1%3:

112.
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(A) FwEt 38
(B) fefzom= 3@
(C) mrieeE EL|
(D) wiafsg 39

fogar g B A :
(A) =h=e, g WaEs TR

(B) ofew H9EdET. g, wifgneesd, TR

(C) yes, =fen, awH, T=owd

(D) g ofew. HIEEET, FiaE, T

o = Han fam 8 ¢ <
(A) e &5

(B) g8 &

(C) Hawe &5

(D)ife &5

ffeg— GEgs € A5 4
(A) fur =T
(B)ug =
(C) =8 ==
(D) aist =

{a]{aﬂﬁﬂ:W?ﬁaﬁga?%mm?ﬁﬁ_ﬁ,m?mf
' WWI@WW?UTW%W%?&W-E
weH €T oo ‘ | .
(b) faea}:fea#?é—afr#?muwmﬁmwm?ﬁu?ﬂ?ggm
(A) (a) »iew w3 (D) ugs Fdt 9
(B) (a) 7== 2 (b) m"ﬂ-:afir
(C) (a) vt @ (b) wifem =t O

(D) (a) »iFm welt & (b) wew wat wt @ 5
fmrmr wfe TOAEl U0 T B00 O

|{P\} o THW _g"ﬁ"'FEE
(B) grer gET  EERE
(D) gasis Y=E - FERS

24




113.

114.

115.

16..

11.7.

A

foosr d3 7ot 27
(A) Bgms 2 woaes UFE mios . wEwer w9
(B) wa= ¥ &= o3 . wifew Fw doer
(C) d7= - wEas fw fie
(D) danis D Ay Rl uiE v
Hel-1 Hft-2
(a) darst wEr T fowage 1) gfafes flwr wre
(b) 77 feforis Hamy 3 fommet 2) g1 99
(e) Theoretical Linguistics 3) F.D. Saussure %
(d) Course in General Linguistics 4) John Lyons

gz 79 fage 94wt 2
(@ (o (c) (d)

(A) 4 1 5 =3
B) 3 2 4 i
(C) 2 3 ! 4

(D) feow #25 aF wt

fefsame 55 3 faow o B @

(A) e, weREE, RosaeE, €59 wufsas
(B} veamee, FovawE. guETE, 938 winlsam
(C) waamee, gusT, Hovaee, G379 »yisas'
(D) Agsasre, gus™, €50 »ufcas, Woamew

drmEl Fgs E w6 - 99 T faow wiow S50 pofew ¢
(A) yfesst

(B) &=

(C) wse

(D) mo= g

(a) (o=a) : G5 - us Fadl &7 faf & fef & Biw &9 28k 7 7= O 1w
UsHEe YTTE T N RBUs veE ye=d v demile afoe w08 Hodesss O

(b) (awa) : fagis "o F=w ¥ ym et ffowms 3, oW B Ao - SR @
f‘@famr'?—a‘é‘%uﬁaiﬁ‘s“m

(A) (a) wt 3 (o) wis= &

(B) (&) == ¢ (o) At €

(C) (a) 7t T (o) »ifiva meft &

(D) (a) =ifkm wat @ (b) walt §

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click




JDD-43/TGT-PUNJ/X-14 | A0 G0 0 S0 O 0 2

118, (adt I eI FgY 3% udH
(A) 2= T et 3wl o |
{B}WM?W?WM
{G}wﬁﬂ*ﬁqﬁh@*ﬁﬁnﬁ’ﬁm‘f
(D) fgzs T 2fem 3 maER T

118. ﬁmﬁ?ﬁﬂﬁaﬁmaﬂﬁﬁﬂ?%ﬁ%wﬂ
(A) 7 =gz, T BT w3 e
(B) & =aw, Fe w3 §fes He
(D]ﬂs@sﬁaa?.#ewé@m?ﬁ
{D}Eqm.ﬁqmigﬁ?m .

120. Ba g @ AR @ ¢ R
(A) B2, e, T
(B) uzt e, Be denl, e
(C) gwe HiE. aF Hen, §FEUE

. (D) e, &7 &S, TH Her

121, ot & wEE 69 WE ... i i

122. ﬁﬂ?ﬁﬁﬁfmaﬁwﬁwmﬁﬂt
ofr 7 et i@ m v Tt B
(A) vl owdt & feg § BT 5@
{Bjﬁ#ﬁmfﬁm
(C) Frme= et 3 By T © yfesdt
(D) 2 7 afeedt & e

123. fso=r =2 EREEnr T O
(A) Tm »3 7T 6
(B) 7reg wE T
(C) ereswe w3 Wg
(D) g& "7 w3 TR "9
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129,

A 0 0 O 0 0 0 0 O A

124,

125.

128.

124

mel = Fefeg Emm 9

(A) & 98 ¥ =R3q, @9 o o, ulgar et
(B) feme fiwl, Sowd! weiRe. ondl Wes
(C) ufezs gu. aHw, &

(D) etz vms, 99, 79 437 = =R=4d

wWezdsEe ¥ Hel glen [Fo fam =t 3 209 »mo fior
(A) o gafe

(B) 55 7w

(C) 7 g

(D) FEzw =g

HSIE BU I o faod wel alfewt Sus =0T wne fipr
(A)7a ofe w3 55 79

(B) 7=z ¥g W3 "YU oG

(C) == s5iv w3 T8 o

(D) =5 7= »2 8w e

URET el e #iis © f5=5 35

)5 FEedl oW e, 7 e i, 7 oads fw

) § WY oW oW, T geihee Hu B8 7 5Fs w wiger
yorEt &o fRu, 3 fiere v, 3 T fRw

)5 TiE M dizs 7 goses w 3fss 3 wEios mhoes

UERSE wWE Wew o9 fam ofe v ® HEml 35
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(D) Ay e
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(A) 6 7@ FioEs, 13 393 10 F2. 7 TouE ¥ Al
(B) 7 7 wiows, 14 393, 9 Fe. 6 TouE ¥ I
(C) 6 g Aiesw, 12 5913, az?z.ﬁwﬁaﬁ
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FEaSl @ °E auns e2ienl

7o HiME ofes da Hur 3 edElit &S

(A) et e = fomes & =t R &E T
(B) fefzamwa few =t nede & w9ss 3

(C) o wewrdl wrfwr 3 wrewdt = wees @
(D) &= =t ygssr &

fams 3aes =@ R3 @

(A) uem FaT
(B) F&7 & weElR 3
(C) et Toew & uleat =%

(D) yarsa waw At

oy ez oS O ESF T
(A) fosT

(B) e =t

(C) Zrr =

(D) w5
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(A) for @ B, Tty foad, wasr

(B) apt = dy, U Wz, frewe fime 2

(C) mer ==t »y, grls foge, BE8 € oa

(D) &t T Hu, R 2 1B, wOY TH

136.

137.

138.

138.

140.

141.

el

7 wnds fw 34 o fan oun fiw wfedl - wisemes w was Un dfer @
(A) Fifat @ fams 2 st

(B) »rE 3 €&

(C) =gz <t 87 T

(D) fez 73 AR feg AE @i

HeAiT wIE T Ffe Aafs o5

(A) feauw »ow |9, &1 &%, u3e feuss
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143.

144,

145.
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148.
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(A) s=23 il
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(C) gamas fru

(D) wi=H 7S
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(A) e

(B) g

(C) wre=r

(D) fesi
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IMPORTANT INSTRUCTIONS TO. CANDIDATES
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12.

183.

14,

15.

16.

17,

18.

This bookliet contains 40 pages.
Pleass check all the pages of the Booklet

carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you ars required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A. B, C or D by Blue/Black Bai-Point Pen
against the gquestion concerned in the
Answer-Sheet. (For V.H. candidates
correspending circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each guestion. The circle should
be shaded completely without leaving any space.
The correct method of shading is given below.

mmiiwmm?;mmua%mmmm!

JogocicgcoCeodlCec

The Candidate must mark his/her response
after carsful consideration.

Thers is only cne carrect arswer ta each
guestion. You should blacken (@) the circle
of the approcriate column, viz., A, B, GorD.
If you blacken (@) more than one circie
against any one guestion, the answer will be
treated as wrong. if you wish to cancel any
answer, you should completaly erase that black
mark in the circle in the Answer-Sheetand then
blacken the circle of revised response.

A machine will read the coded information
in the OMRB Answar-Sheet, In case the
infarmation is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

Use the space for rough work given in the
Question Booklet only and not on the
Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated In the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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